Year 2 Diagina D

Mo has used the ruler to measure the
length of the car.
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Mo says the car is 8 centimetres long.
Do you agree?
Explain your answer.

Compare the lengths using longer than, shorter than, or the
same as.

15cmis 60 cm

Sixty metres is 60 m

H

96 mis 69 m

80cmis 80m




Use <, > or = to complete the statements.
7 metres 17 metres

18 cm O 18m
32cm O 32 centimetres

Now it's your turn. Can you pick 2 lengths & use the symbols <, >

and = to compare them. Can you think of both m and cm examples.



